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CSIA PART II SECTION 3 

FINANCIAL STATEMENT ANALYSIS 

FRIDAY: 7 June 2013      Time Allowed: 3 hours 

Answer all questions. Marks allocated to each question are shown at the end of the question. Show 

all your workings. 

QUESTION ONE 

The following financial statements were extracted from the books of Ngano ltd. For the year ended 31 

December 2011 and 31 December 2012: 
 

Income statement for the year ended 31 December: 

 2011 2012 
 Sh.”000” Sh.”000” 

Revenue   20,000  26,000 

Cost of sales (15,400) (21,050) 

Gross profit    4,600     4,950 
Administrative expenses      (800)       (900) 

Selling and distribution expenses    (1,550)    (1,565) 

Depreciation       (110)       (200) 
Debenture interest            -      (105) 

Profit for the year      2,140      2,180 

   

Statement of financial position as at 31 December 

 2011 2012 
 Sh.”000” Sh.”000” 

Non-current assets at cost   4,600  5,600 
Accumulated depreciation    (800) (1,000) 

Net book value   3,800  4,600 

Current assets:   
Inventory   6,000  6,700 

Trade receivables   4,400  6,740 

Bank balances      120     960 
 10,520 14,400 

 14,320 19,000 

Equity and liabilities:   

Ordinary share capital   8,000   8,000 
Retained profits   3,120   5,300 

 11,120 13,300 

Non-current liabilities:   
7% Debentures            -   1,500 

Current liabilities   3,200   4,200 

 14,320 19,000 

 
 

Required: 

(a)     i.  Gross profit margin        (2 marks) 



ii. Net profit margin          (2 marks) 

iii. Return on equity        (2 marks) 
iv. Stock turn over        (2 marks) 

v. Quick ratio         (2 marks) 

vi. Debtors collection period       (2 marks) 

(b) Based on the ratios calculated in (a) above, comment on the performance of the company 

 (8 marks) 

(Total: 20 marks) 

QUESTION TWO 

(a) Explain the following forms of joint venture in the context of International Accounting Standards             

(IAS) 31 “interest in joint venture” 

 

i. Jointly controlled operations       (2 marks) 
ii. Jointly controlled assets       (2 marks) 

iii. Jointly controlled entities       (2 marks) 

 

(b) On January 2012, kika ltd. Acquired 30% of kaka ltd ordinary shares for sh.500, 000 cash. It is 

determined that kika ltd. has the ability to exert significant influence on kaka ltd‟s financial and 

opening decisions. 

The following information concerning kaka ltd‟s assets and liabilities on 1
st
 January 2012 is provided 

Kaka ltd 

 Book value Fair value differences 

 Sh. Sh. Sh. 

Current assets    100,000    100,000 - 
Plant and equipment 1,900,000 2,200,000 300,000 

 2,000,000 2,300,000 300,000 

Less liabilities (800,000) (800,000)             - 
Net assets 1,200,000 1,500,000 300,000 

 

Plant and equipment are depreciated on a straight line basis and have 10 years of remaining useful life. 

Kaka ltd‟s reported a net income of sh.100, 000 and paid dividends of sh.50, 000 for the year ended 31 

December 2012. 

Required: 

i. Goodwill included in the purchase price              (4 marks) 
ii. Investment in the associate entity, at the end of year 2012   (4 marks) 

  (c) Peris Omwamo, a Certified Securities and Investment Analyst (CSIA), has been consulted to analyze 
PKG ltd. Which is planning to raise new debt? Part of her analysis involves understanding PKG ltd‟s 

solvency so as to determine its capacity to handle additional debt. During the analysis, peris Omwamo 

observed that in the year 2012, PKG ltd. Undertook an asset reveluation that increased the depreciation 
expense by sh.2.5 million. The following excerpts were Provided to her from the financial statements of 

PKG limited. 



Statement of financial position as at 31 December: 

 
 2011 2012 
 Sh.”million” Sh.”million” 

Plant, property and equipment (net book value)      700     750 

Total assets   3,000  3,650 
Total liabilities   1,400  1,900 

Revaluation surplus (part of shareholders‟ equity)        -     150 

Total shareholders‟ equity   1,600  1,750 

 

Statement of comprehensive income for the year ended 31 December: 

 2011 2012 
 Sh.”million” Sh.”million” 

Depreciation expense     100    125 

Income before taxes  1,000    975 

Tax expense     400   400 
Net income     600   575 

 

 

Additional information: 

1. Asset revaluation is not taxable 

2. Any increase in depreciation expense related to the revaluation is not deductable 

Required: 

Based on IFRS 5 “non-current assets held for sale and discontinued operations”, compute PKG ltd‟s 

financial leverage using the 2012 financial statements: 

 
i. With no adjustment for the asset revaluation     (2 marks) 

ii. With adjustment for asset revaluation      (3 marks) 

Interprete the change in leverage computed in (c) (i) and (ii) above    (1 marks) 

(Total: 20 marks) 

QUESTION THREE 

(a) (i) Argue the case for including a portion of deferred taxes as equity and a portion as debt.(2 marks) 

     (ii) Explain three factors that influence the level and trend of reported deferred taxes among firms. 

(6 marks) 

(b) Dunga ltd And Kanda ltd Use International Accounting Standards (IAS) 19 “employees‟ benefits” to 

account for their pension plans. The following information relates to the companies‟ pension plans for the 
year ended 30 April 2013. 

1. On 1
st
 May 2012, the pension plan assets of both companies were fairly valued at ksh.200 

million. Both companies had net unrecognized actuarial gains of sh.6 millions 

2. On 30
th
 April 2013, the fair value of the pension plan assets of Dunga ltd, was sh.219 millions 

and that of Kanda ltd was sh.276 millions 

3. The contributions received were sh.70 millions and benefits paid were sh.26 millions for both 
companies. These amounts were paid and received on 1

st
 November 2012 



4. The expected return for both companies, pension plan assets was 7% on 1
st
 May 2012 

5. The present value of the defined benefit obligation was less than the fair value of the company‟s 
pension plan assets on 1

st
 May 2012 and 30

th
 April 2013 

6. Actuarial losses on the obligation for the year were negligible for both companies 

Required: 

Using the corridor approach, calculate the actuarial gain or loss for Dunga ltd and Kanda ltd arising in the 

year ended 31 April 2013. Comment on the results     (12 marks) 

(Total: 20 marks) 

QUESTION FOUR 

(a) Financial statement analysis is a very imperative device but the financial is a very imperative device 

but the financial analysts must keep in mind its limitations. Discuss six limitations associated with the 
analysis of financial statements.       (6 marks) 

(b) Describe two incentives that could lead to manipulation of financial statements by the management of 
a firm.           (4 marks) 

(c) Pakacha ltd issued one new share for every two existing shares held by way of rights at sh. 1.50 per 

share on 1
st
 July 2012. The market price per share as at July 2012 was sh.3.00 

The following information is available: 

          2012  2011 

Profit attributable to ordinary shareholders (sh) for the year ended    550,000 460,000 
Number of ordinary shares in issue as at 31 December    1,200,000 800,000 

Required: 

i. Earnings per share (EPS) for the year ended 2012   (7 marks) 
ii. Retained earnings per share (EPS) for the year ended 2011  (3 marks) 

(Total: 20 marks) 

QUESTION FIVE 

The following financial statements were extracted from the books of Kimbo ltd. 

Statement of comprehensive income for the year ended 30
th

  June 2012 

 Sh”000” 

Revenue   11,480 
Cost of sales     9,680 

Gross profit     1,800 

Income from and gains on investing        120 

Distribution costs      (240) 
Administrative expenses      (700) 

Finance cost      (100) 

Profit before tax        880 
Income tax expense      (320) 

Profit for the year       560 

Other comprehensive income:  
Gains on property revaluation       200 

Total comprehensive income       760 



Statement of financial position as at 31 December 

 2012 2011 
 Sh.”000” Sh.”000” 

Non-current assets at cost(see note 1):   

Property, plant and equipment    5,760  3,720 

Investment property       840     800 
    6,600   4,520 

Current assets:   

Inventory    2,420  1,620 
Trade receivables       960  1,080 

Income tax assets          -     100 

Bank balances         20        - 

    3,400 2,800 

Total assets 10,000 7,320 

Equity and liabilities:   

Equity shares of 0.20 each(see note 3)   2,000    1,200 
Share premium   1,200        - 

Revaluation reserve     300       100 

Retained profits   2,880    2,620 
   6,380    3,920 

Non-current liabilities:   

6% loan note (see note 2)            -      800 
Deferred tax       100        60 

       100      860 

Current liabilities:   

Trade payable    2,820    2,100 
Bank over draft         -       240 

Warranty provision (see note 4)        400       200 

Current tax payable        300          -  
    3,520    2,540 

Total equity and liabilities 10,000    7,320 

 

Additional information: 

1. An item of plant with a carrying amount of sh, 480,000 was sold at a loss of sh.180, 000 during 
the year ended 30

th
 June 2012. Depreciation of sh. 560,000 on property , plant and equipment was 

charged to cost of sales in the year ended 30
th
 June 2012   

2. The 6%loan notes were redeemed before maturity incurring a penalty for early payment of 
sh.40,000 which has been charged as an administrative expense in the income statement 

3. There was an issue of shares for cash during the year ended 30
th
 June 2012 

4. Kimbo ltd gives a 12 month warranty on some of the products it sells. The amounts shown in the 
current liabilities as warranty provision are an accurate assessment based on past experience of 

the amount of claims likely to be made in respect of warranties outstanding at each year end. 

Warranty costs are included in cost of sales. 

5. A dividend of sh.0.03 per share was paid during the year ended 30
th
 June 2012. 

Required: 

Statement of cash flow for Kimbo ltd for the year ended 30
th
 June 2012 in accordance with IAS 7 

(statement of cash flows) 

(Total: 20 marks) 



CSIA PART II SECTION 3 

FINANCIAL STATEMENT ANALYSIS 

THURSDAY: 6 December 2012     Time Allowed: 3 hours 
Answer all questions. Marks allocated to each question are shown at the end of the question. Show 

all your workings. 

QUESTION ONE 
The following financial statements were extracted from the books of Venix Limited for the year ended 

31
st
 October 2011 and 2012 

Venix Limited 

Income statement for the year ended 31 October: 

 2012 2011 
 Sh.”000” Sh.”000” 

Revenue   25,500   17,250 

Cost of sales (14,800) (10,350) 
Gross profit    10,700    6,900 

Distribution cost   (2,700)  (1,800) 

Administrative expenses    (2,100)  (1,500) 

Finance cost       (650)     (100) 
Profit before tax      5,250    3,500 

Income tax expense    (2,250)  (1,000) 

Profit for the year     3,000     2,500 
   

Venix Limited 

Statement of financial position as at 31 October 
 2011 2012 
Non-current assets at cost: Sh.”000” Sh.”000” 

Plant, property and equipment                   9,500                 5,400 

Intangible assets                   6,200                        - 
                 15,700                 5,400 

Current assets:   

Inventory   3,600  1,800 
Accounts  receivable   2,400  1,400 

Bank        -  4,000 

Non-current assets held for sale   2,000        8,000         -        7,200 

                   23,700                 12,600 

Equity and liabilities:   

Ordinary share capital(sh.10 par value)   5,000                 5,000 

Retained profits   4,500                 2,250 
   9,500                7,250 

Non-current liabilities:                        

5%loan stock                      2,000                 2,000  
8% loan stock                      7,000                      - 

Current liabilities:   

Bank overdraft     200   - 

Accounts payable  2,800 2,150 

Current tax  2,200          5,200 1,200         3,350 

                   23,700                  12,600 

 



Additional information: 

1. There were no disposals of non-current assets during the period; however, Venix limited does 

have some non-current assets classified as „held for sale‟ at 31
st
 October 2012 

2. Depreciation on property, plant and equipment for the year ended 31
st
 October 2012 was 

sh.640,000 

3. A disappointed shareholder has observed that although revenue during the year has increased by 

48%, profit for the year has only increased by 20% 

Required: 

(a) Statement of cash flow (in conformity with IAS 7, statement of cash flows) for the year ended 31 

October 2012.           (10 marks) 

(b) Using suitable ratios, comment on the performance and financial position of Venix limited for the year 

ended 31 October 2012.        (10 marks) 

(Total: 20 marks) 

QUESTION TWO 

(a) Outline two types of information which could be obtained from the following sources: 

i. Proxy statement          (2 marks) 
ii. Corporate press release         (2 marks) 

iii. Annual reports to regulators        (2 marks) 

(b) The top management of Zedrock Limited has provided you with the following financial statements 

relating to its two divisions, alpha and beta, for the year ended 30 June 2012 

Income statement for the year ended 30 June 2012 
 Alpha Division Beta Division 

 Sh.”millions” Sh.”millions” 

Revenue                           4,000                          6,000 
Cost of sales                         (3,000)                        (4,800) 

Gross profit                           1,000                          1,200 

Expenses:   
Distribution costs     200     150 

Administrative expenses     290      250 

Interest paid       10                  (500)      400               (800) 
Profit before tax                               500                              400 

Income tax expense                             (120)                             (90) 

Profit after tax                               380                              310 

Dividend paid                             (150)                           (100) 
Retained profit for the year                               230                             210 

Retained profit brought forward                               220                          2,480 

Retained profit carried forward                               450                         2,6900 

 

 

 

 

 

 

 



Statement of financial position as at 30 June 2012: 

 Alpha Division Beta Division 
 Sh.”millions” Sh.”millions” 

Non-current assets at cost:   

Land and buildings                   1,200                  5,000 

Furniture and motor vehicles                      600                  1,000       
                   1,800                  6,000       

Current assets:   

Inventory     400  800 
Trade  receivables      850  750 

Financial assets      100  230              

Cash at bank      -          1,350        100             1,880       
Total assets                     3,150                     7,880 

 

Equity and liabilities:   

Ordinary share capital(sh.1 par value)                       1,000                     1,600 
Retained profits                           450                      2,690 

                        1,450                            4,290 

Non-current liabilities:                        
Bank loan                            500                      3,000  

Current liabilities:   

Accounts payable     1,080   590 
Bank overdraft         120           1,200       -                  590 

                         3,150                        7,880 

  

Additional information: 
1. The two divisions sell goods on both cash and credit terms. On average, the credit sales account for 

80% of the total sales while purchases account for 90% 

2. The cash flow from operating activities for the two divisions are sh.750 millions and sh.800 million 
respectively. 

3. The division deal with electronic goods. 
Required: 

(i) Common size income statement for the year ended 30
th
 June 2012   (6 marks) 

(ii) Common size statement of financial position as at 30th June 2012   (6 marks) 

(iii)Comment on the performance of the two divisions and state which division and state is better   

           (2 marks) 

(Total: 20 marks) 

QUESTION THREE 
(a) In context of IAS 18 “revenue” 

i. Define the term revenue         (2 marks) 
ii. Outline four criteria to be followed in recognizing revenue from the sale of goods  (4 marks) 

(b) Summarize four factors that might affect the quality of earnings of a firm   (4 marks)  



(a) At 1 October 2011, Celltech limited had in issue 36 Million ordinary shares, 10 million 6% 

redeemable preference shares (sh.10 par value) and sh.10million 8% convertible loan stock 

The loan stock will mature in 2012 and will be redeemable at par or be converted to ordinary share on the 

basis of 25 shares for each sh.100 of the loan stock at the holder option 

On 1 January 2012, Celltech Limited made a fully subscribed rights issue of one new share for every four 

shares held at a price of sh.28 each. 

The market price of the ordinary shares immediately before the issue was sh.38. The profit after tax for 

the year ended 30 September 2012 was sh.15 million, the earning per share (EPS) was sh. 0.30 for the 

year ended 30 September 2011. 

The income tax rate is 30%. 

Required: 

(i) Basic earnings per share (EPS) as at 30 September 2012     (5 marks) 

(ii) Diluted EPS (comparative not required)as at September 2012     (5 marks) 

(Total: 20 marks) 

QUESTION FOUR 

(a) (i) Explain the rationale behind providing deferred tax based on temporary differences  (4 marks) 

    (ii) Polytech Limited has a deferred tax liability of sh.100 million as at 1 October 2011. During the year 

ended 30 September 2012, the following information was available for computation of deferred tax: 

1. Property, plant and equipment had a carrying amount of sh. 1,200 million and a tax base of 

sh.1,000 million. Some land and building were revalued upwards by sh.50 million during the year 
ended 30 September 2012 

2. Intangible assets consisting of trade licenses being amortized over five years had a carrying 

amount of sh.60million. this has been allowed for tax purposes 

3. The company has available for sale financial assets with a carrying amount of sh.20 millions and 
financial assets at fair value through profit and loss of shillings 10 million. Both financial assets 

reported losses in fair value of sh.2 million each as at 30
th
 September 2012 

4. Inventory is shown at the lower of cost and net realizable value. The cost is sh.800 million while 
net realizable value is sh.780 million 

5. Trade receivables had a carrying amount of sh.500 million (unrealized). Both the allowance and 

exchange gain are not allowed for tax purposes 
6. Trade and other payables are stated at sh.900 million after making a provision for discount of 

sh.10 million 

Assume a tax rate of 30%. 

Required: 
Temporary differences for the year ended 30 September 2012.   (6 marks) 

(b) Tedcomp Limited prepares its financial statements on 30 September each year. The company makes 
contribution to a defined plan for its employees. The company accounts for actuarial gains and losses 

arising on these arrangements using the 10% corridor method. 

 

 



Additional information: 

1. At 1 October 2011, the plain obligation was sh.42 million and the fair value of the plan assets was 

sh.36 million 

Unrecognized actuarial losses at that date totaled sh.7.8 million. 
2. The actuary advised that the current service cost for the year ended 30 September 2012 was sh.4.8 

million. Tedcomp Limited paid contribution of sh.3.84 million to the plan on 30 September 2012. 

These were the only contribution paid in the year. 

3. The expected annual rate of return on plan assets at 1 October 2011 was 5%. They actuary revised 
this estimate to 4% at 30 September 2012 

4. The appropriate annual rate at  which to discount the plan liabilities was 6% on 1 October 2011 

and 5.5% on 30 September 2012 
5. The plan paid our benefits totaling sh.2.4 million to retired members on 30 September 2012 

6. At 30September 2012 the plan obligation was sh.49.8 millions and the fair value of the plan asset 

was sh.39 million 

7. The average remaining service life of plan members still in employment was estimated to be 20 
years. 

Tedcom Limited policy is to recognize the excess of the limits over the average service life of 

employees. 

Required: 

(i) Income statement (extract) for the year ended 30 September 2012    (5 marks) 

(ii) Statement of financial position (extract) as at 30 September 2012    (5 marks) 

(Total: 20 marks) 

QUESTION FIVE 

(a) Describe two limitations of operating segment analysis in comparing different entities. (2 marks) 

(b) Summarize four defects of historical cost accounting during inflation periods.   (4 marks) 

(c) Kubwa Limited acquired 25% of the equity share of Ndogo Limited several years ago when the 

retained earnings of Ndogo Limited were sh.120 million. Ndogo limited operates as a separate entity 

under contractual agreement between kubwa limited and three other parties, each party holding an equal 
proportion of the equity share capital. The investment in Ndogo limited is held at cost in Kubwa 

Limited‟s individual financial statement and has been correctly classified as a joint venture. 

Statement of financial position as at 31 October 2012 

 Kubwa limited Ndogo 

limited 

Non-current assets: Sh.”million” Sh.”million” 
Plant, property and equipment      966  840 

Investment in Ndogo      210      - 

   1,176  840 

Current assets:   

Inventory     333   360 

Trade  receivable     345   396 
Held for trading investment     105     - 

Cash and cash equivalents       63    120 

     846    876 

Total assets  2,022 1,716 



Equity and liabilities:   

share capital(sh.1 par value)    360    600 
Revaluation reserve      54      - 

Retained profits    639    360 

Total equity 1,053    960 

Non-current liabilities:   
Long term borrowing    270        - 

Current liabilities:   

Trades payables    555    480 
Income tax payable    144    276 

    699    756 

Total liabilities    969    756 

Total equity and liabilities 2,022 1,716 

 

Additional information: 

1. During the year, Ndogo Limited sold goods to Kubwa limited for ksh.600 million. Half of these goods 
remain in Kubwa limited inventory at 31 October 2012. Ndogo limited makes a 20% margin on all 

sales. The most recent sales invoice for sh.72 millions sent from Ndogo limited to Kubwa limited in 

respect of these sales remains outstanding at the year end. 

   2. Kubwa Limited holds another investment, which it has correctly classified as held for trading. The fair 

value of this investment at 31 October 2012 was sh.126 million, although this has not yet been reflected 
in the financial statements. 

Required: 

Consolidated statement of financial position as at 3October 2012.   (4 marks) 

(Total marks: 20 marks) 

 

 

 

 

 

 

 

 

 

 

 

 



CSIA PART II SECTION 3 

FINANCIAL STATEMENT ANALYSIS 

THURSDAY: 31 MAY 2012     Time Allowed: 3 hours 
Answer all questions. Marks allocated to each question are shown at the end of the question. Show 

all your workings. 

QUESTION ONE 
The following balances were extracted from the books of Mali commercial Bank ltd on 31 December 

2011. 

 Sh.”000” 

Government securities 2,344,000 

Loans and advances 5,946,000 
Cash and balances with central bank 1,257,000 

Other money market placements      34,600 

Property, plant and equipment 1,008,000 
Interest on loans and advances    870,800 

Interest on government securities    476,400 

Foreign exchange income    144,000 

Fees and commissions income    340,400 
Deposits with other banks    230,000 

Other fixed assets      64,000 

Interest on placement and bank balances      72,000 
Non-operating income      34,000 

Customers deposits 8,480,000 

Deposits and balances due to other banks     430,000 
Depreciation expense       84,000 

Directors emoluments       25,000 

Bad and doubtful debts expense       68,000 

Interim dividends paid       50,000 
Staff costs     590,000 

Interest on customers deposit     230,000 

Interest on borrowed fund       70,000 
Ordinary share capital     500,000 

Auditors remuneration         7,000 

Contribution to staff provident fund       29,000 

Loss on sale of fixed assets       43,600 
General administration expense     285,000 

Reserves  1,058,000 

Legal and professional fees       40,000 

  

Additional information: 
1. Current tax has been estimated at sh.240, 000,000. 

2. Final dividends have been proposed at 20%. 

3. Accrued interest expense on customers‟ deposits as at 31 December 2011 was sh.60, 000,000 

Unrecorded interest income on loans and advances to customers was sh.300, 000,000 as at 31 December 
2011. 

 

 



Required: 

Prepare the following statements in accordance with International Financial Reporting Standards (IFRS): 
(a) A statement of comprehensive income for the year ended 31 December 2011.         (12 marks) 

(b) A statement of financial position as at 31 December 2011.             (8 marks) 

        (Total: 20 marks) 

QUESTION TWO 
(a) Identify the key issues that may be contained in each of the following reports: 

 (i) Director‟s report         (2 marks) 

 (ii) Auditor‟s report        (2 marks) 
 (iii) Chairman‟s report        (2 marks) 

(b) Matokeo logistics limited is a major service provider in the logistics and cargo transport from the port 

of Mombasa to various destinations in the world. In the recent years, there have been reported complaints 
about the services provided by the company. In the last one year, the company has invested over sh.400 

million in new equipment and trucks in an attempt to address these criticisms. The summarized financial 

results for Matokeo logistics limited for the years ended 30 April 2011 and 30 April 2012 are given 

below: 
 

 

Matokeo logistics Limited 
Summarized income statement for the year ended 30 April: 

 2011 2012 

 Sh.”million” Sh.”million” 
Sales Revenue   3,600  3,700 

Earnings before interest and tax (EBIT)      360     330 

Interest expense       (64)      (94 

Taxation       (88)     (70) 
Earnings available to ordinary shareholders       208     166 

   

Matokeo logistics Limited 

Summarized Statement of financial position as at 30 April 

 2011 2012 
 Sh.”million” Sh.”million” 

Non-current assets at cost                       2,008                 2,410 

Current assets:   

Inventory 106 118 

Trade  receivables   42   48 
Cash and Bank balances  124                  272   72             238 

                       2,280                 2,648 

Equity and liabilities:   
Ordinary share capital(sh.1 each)                          500                    500 

Retained profits                          912                    964 

                       1,412                 1,464 

Non-current liabilities:                        
8% Debenture 300                    300 

Bank loan  400                    700 

Current liabilities:   

Trade payables  168                   868                     184 

                        2,280                  2,648 

 

 



Required: 

Calculate the following rations for Matokeo logistics limited for the year ended 30 April 2011 and 30
 

April 2012: 

i. Return on capital employed (ROCE)       (2 marks) 

ii. Net profit margin        (2 marks) 

iii. Assets turnover         (2 marks) 

iv. Current ratio         (2 marks) 

(c) Briefly comment on the financial performance of Matokeo Logistics Limited in 2011 and 2012 as 

revealed by the above ratios. Suggest causes for any changes.         (2 marks) 

(d) Suggest two non-financial indicators that could be useful in measuring the performance of Matokeo 

Logistics limited. State why your chosen indicators are important   (2 marks) 

(Total: 20 marks) 

QUESTION THREE 

(a) Alpha Ltd is a subsidiary of beta ltd. Information based on the income statements of each company for 

the year ended 31 March 2012 is provided below: 

Income statement for the year ended 30 June 2012 
 Alpha Division Beta Division 

 Sh.”000” Sh.”000” 
Revenue  17,540      2,474 

Cost of sales (10,625)     (1,562) 

Gross profit     6,915           912 
Administrative expenses    (1,763)          (239)       

Selling and distribution expenses       (604)            (87) 

Finance cost       (175)            (31) 

Profit before tax      4,373           555 
Income tax expense       (853)          (118) 

Profit for the year      3,520            437 

 

Additional information: 

1. During the year alpha ltd sold goods to beta ltd forsh.32, 000. The goods had cost alpha sh.25, 000. At 
31 March 2012, only 80% of the goods had been sold by beta ltd. 

2. Alpha ltd had acquired 80,000 of the 100,000 sh.10 shares of Beta ltd on November 2010 for sh.21 

million. At that date, the fair value of 1 share in beta ltd was estimated to be sh.25 and book value of 
Beta ltd. Equity was sh.18, 750,400 

3. It was estimated that on acquisition, the fair value for all the assets of Beta ltd were the same as their 
book values, with the exception of land. The land was estimated to have a fair value of sh.120, 600 

greater than the book value. 

4. The directors use the partial method to determine goodwill arising on acquisition and have calculated 

that on 31 March 2012, the value of the group‟s share of goodwill had fallen to sh.1, 850,000 

 



Required: 

(i)  Determine the group share of goodwill arising on the acquisition of bête ltd.   (2 marks) 

(ii) Consolidated income statement for the year ended 31 March 2012   (8 marks) 

(b) The consolidated income statement of Pasar ltd. For the year ended 31 May 2011 and 31 May 2012 

include the information shown below. 

 2012 2011 
 Sh.”million” Sh.”million” 

Revenue 615.7 592.8 

Operating profit   88.4   71.8 
Net interest receivable/payable     0.2    (1.3) 

Profit before tax    88.6   70.5 

Tax on ordinary activities   (25.7)  (19.4) 
Profit after tax    62.9   51.1 

Non-controlling interest     (8.1)   ( 7.4) 

Profit for the year    54.8   43.7 

Dividends paid  ( 18.3)  (15.8) 
Retained profit for the year    36.5   27.9 

 

Additional information: 

1. As at May 2012 the company‟s issued share capital were 20,800,000 ordinary shares of sh.10 each. 

Additional shares were issued as follows in the year 2010 and 2011: 

  1 December 2010 – a cash issue which raised sh.46, 670,000 

  1 October 2011 – a rights issue of 1 for every 3 shares at sh.10.50 

2. The market price of the company‟s shares was reported as follows: 

     Sh. 

1 June 2010   17.50 
1 December 2010  17.95 

1 October 2011   14.10 

31 May 2012   15.80 
 

Required: 
The basic earnings per share (EPS) for the year ended 31 May 2011 and May 2012 (10 marks) 

(Total: 20 marks) 

QUESTION FOUR 

(a) Briefly explain three economic factors that affect interest rates.   (6 marks) 

(b) Hekay limited issued a five year, 10% convertible loan at sh.10 million on 1 January 2012. The loan 

stock could be converted into 500,000 sh.10 ordinary shares at any time before maturity. Interest rate 

for similar loan stocks without a conversion option is 12%. 

Required: 

(i) Explain how the loan stock could be classified according to International Accounting Standards (IAS) 

32 (Financial instruments presentation).      (2 marks) 



(ii) If the loan stock is not converted into ordinary shares, explain how it will be accounted for and 

presented in the financial statements over the next five years up to 2016. 

Assume that interest is paid annually.       (8 marks) 

(iii) Assume that the loan stock is converted into ordinary shares on 15 January 2014. Give the journal 

entries to record the conversion.       (4 marks) 

(Total: 20 marks) 

QUESTION FIVE 

(a) Explain three problems associated with accounting treatment of post employment benefits (6 marks) 
(b) Babika Limited operates defined scheme for the members of staff. The following data relates to the 

scheme over the past three years ended 31 May 2010, 31 May2011 and 31 May 2012: 

 
 2010 2011 2012 

 Sh.”million” Sh.”million” Sh.”million” 

Current service cost   130    140    150 

Benefits paid   150    180    190 
Contribution paid     90    100    110 

Present value of obligations – 31May 1,100 1,380 1,408 

Fair value of scheme assets at 31 May 1,190 1,372 1,188 
Discount  rate at start of the year    10%     9%      8% 

Expected rate of return on the scheme assets    12%    11%      10% 

 

Additional information: 

1. The present value of obligations and fair value of scheme assets as at 1 June 2009 was sh.1,000 million. 

2. The company recognizes all actuarial gains and losses arising during the period in the retained profits. 

 

Required: 

(i) Income statement for the year ended 31 May 2010, 31 May 2011 and 31 May 2012 (6 marks) 

(ii) Statement of financial position as at 31 May 2010, 31 may 2011 and 31 May 2012 (6 marks) 
 

(c) Patmos ltdis considering adding a new division in the manufacturing department. The addition will 

result in a 20% increase in the existing profit margin and a 40% increase in total assets. The increase will 
be financed with debt. 

The following ratios existed before the change in assets.  

 

1. 𝑝𝑟𝑜𝑓𝑖𝑡 𝑚𝑎𝑟𝑔𝑖𝑛 (𝑀)  =
𝑛𝑒𝑡  𝑖𝑛𝑐𝑜𝑚𝑒

𝑠𝑎𝑙𝑒𝑠
= 0.12 

 

2. 𝑇𝑜𝑡𝑎𝑙 𝑎𝑠𝑠𝑒𝑡 𝑡𝑢𝑟𝑛𝑜𝑣𝑒𝑟 (𝑇)  =
𝑠𝑎𝑙𝑒𝑠

𝑇𝑜𝑡𝑎𝑙  𝑎𝑠𝑠𝑒𝑡𝑠
= 2.5 

 

3. 𝐸𝑞𝑢𝑖𝑡𝑦 𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑒𝑟 (𝐸𝑀)  =
𝑇𝑜𝑡𝑎𝑙  𝑎𝑠𝑠𝑒𝑡𝑠

𝐸𝑞𝑢𝑖𝑡𝑦
= 1.5 

 

Required: 
The new return on equity (ROE) if sales remain Constant    (5 marks) 

(Total: 20 marks) 

 

 



CSIA PART II SECTION 3 

FINANCIAL STATEMENT ANALYSIS 

THURSDAY: 1 December 2011     Time Allowed: 3 hours 
Answer all questions. Marks allocated to each question are shown at the end of the question. Show 

all your workings. 

QUESTION ONE 
The following trial balance relate to Ziwani Limited as at October 2011: 

 Sh.”000” Sh.”000” 

Ordinary share capital(sh.10 each)   56,000 
Retained earnings (1 November 2010)     1,400 

8% convertible loan stock    30,000 

Freehold property at cost 1 November 2010:   
       (land element sh.25 million) 75,000  

      Plant and equipment (at cost) 74,500  

Accumulated depreciation (1 November 2010):   
      Building   10,000 

      Plant and equipment   24,500 

Current tax        800 

Deferred tax     2,600 
Inventory: 4 November 2011 36,000  

Trade receivables 47,100  

Bank loan    11,500 
Trade payables    24,500 

Revenues  339,650 

Cost of sales 207,750  

Distribution costs 27,500  
Administrative expenses 30,700  

Interest paid on convertible loan stock 2,400         

 500,950 500,950 
 

Additional information: 

1. The inventory of Ziwani limited was not counted until 4 November 2011 due to operation reasons. At 
this date, the cost of this inventory was sh.36million and this figure had been used in the cost of sales 

calculation above. Between the year ended 31 October 2011 and 4 November, Ziwani limited received 

a delivery of goods at a cost of sh.2.7 million and made sales of sh.7.8 million at a markup on cost of 

30%. Neither the goods delivered nor the sales made in this period were included in Ziwani limited‟s 
purchases (as part of cost of sales) or revenues in the above trial balance. 

2. On 1 November 2010, Ziwani limited decided, for the first time, to value its freehold property. A 

qualified property valuer reported that the market value of the freehold property on this date was 
sh.80million of which sh.30million related to the land. At this date, the remaining estimated life of the 

building was 20 years. Plant is depreciated at 20% per annum on a reducing balance method. 

3. The bank loan is being repaid in ten equal installments which commenced on 1 November 2006. 
4.  Provision for doubtful debts of 5% of the trade receivables is to be made. 

5. The balance on current tax represents the under/over provisions of the tax liability for the year ended 

31 October 2011. The required provision for income tax for the year ended 31 October 2011 is sh. 19.4 

million. The net temporary differences during the year were determined as sh.19.8 million. 
6. Income tax and deferred tax are provided at a rate of 30% on all items giving rise to tal 

7. Provision is to be made for the following items: 

  Interest on bank loan sh.1.84 million 



  Proposed dividends of 10% 

Required: 
(a) Statement of comprehensive income for the year ended 31 October 2011   (8 marks) 

(b) Statement of changes in equity for the year ended 31 October 2011    (4 marks) 

(c) Statement of financial position 31 October 2011      (8 marks) 

 (Total: 20 marks) 

QUESTION TWO 

(a) Describe the following sources of financial information:     

 (i) Footnotes         (2 marks) 
 (ii) Management Discussion and analysis     (2 marks)  

(b) The following is an extract from Rafiki limited‟s statement of comprehensive income and statement of 

financial position December 2010: 
  Debt   sh.12 million 

  Equity   sh.20 million 

  Interest expense  Sh. 1 million    

  Time interest earned 5.0x 

Additional information: 

1. At the beginning of 2010, Rafiki  limited entered into an operation lease with future payment of sh.40 

million with discounted present value of sh.20 million 
2. Rafiki limited has guaranteed a sh.5million, 10% bond issue, due in 2016 issued by Kwanza ltd a non 

consolidated 30% owned affiliate 

3. Rafiki limited committed itself (starting in 2011) to purchase a total of sh.12 million of copper rolls 
from Coproll ltd, its major supplier over the next five years. The estimated present value of these 

payments is sh.7million 

Required: 

(i) Discuss the reasons (both financial and operating) why Rafiki limited might have entered into these 
arrangements          (4 marks) 

(ii) Describe the additional information required, to fully evaluate the impact of these commitments on 

Rafiki limited‟s current financial position and future operating trend.    (4 marks) 
 

(c) Tana limited has provided the information below regarding its operations and subsidiaries for the year 

ended 31 December 2010: 

 Sh.”000” 
Sales to customers outside the group by Uganda companies 27,000 

Assets used by Tanzania companies 32,400 

Assets used by Uganda companies 43,200 
Assets used by bureaus services 18,765 

Sales not allocated to Uganda, Tanzania or other areas   2,700 

Sales made by the group to other areas   1,350 
Expenses not allocated to Uganda, Tanzania or other areas   4,590 

Sales to customers outside the group by Tanzania companies   6,750 

Sales by Tanzania companies to group members   2,160 

Sales by Uganda companies to group members   2,700 
Assets used by the group in other areas 18,360 

Assets not allocated to Uganda, Tanzania or other areas 12,555 

segment net operating profit by geographical areas:  

                                  Sh. “000”  

         Uganda             5,130  

         Tanzania     2,430  
       Other areas       270  

 



Consolidated segmental net operating profit by geographical area sh.7, 155,000 

Required: 
Geographical segmental report for inclusion in the annual report    (8 marks) 

          (Total: 20 marks) 

QUESTION THREE 

(a) Mambo limited operates retail outlets in the east African region. The company intends to raise sh.375 
million to expand its operations to Southern Sudan. It can raise the finances using any of the following: 

 

Option 1 - Issue 10% preference shares redeemable in 10 years 
Option 2 – A rights issue at sh.4 per share 

Option 3 – Issue 10% debentures redeemable in 10 years 

 
The current financial statements of Mambo ltd for the year ended 30 November 2011 are as follows: 

 

Consolidated income statement for the year ended 30 November 2011: 

 Sh.”million” 
Revenue   3,750 

Cost of sales (2,250) 

Gross profit   1,500 
Administration cost  1,050 

Profit before interest and tax      450 

Less interest expense     (22.5) 
Profit before tax    427.5) 

Less income tax expense  (128.25 

Profit after tax   299.25 

Less dividends (179.55) 
Retained profit   119.7 

  

Statement of financial position as at 30 November 2011 
 Sh.” million” 

Non-current assets at cost 1,507.5 

Net current assets    372 

 1,879.5 
Ordinary share capital(sh.0.25 par value)    187.5 

Retained profits 1,504.5 

12% Debentures    187.5 

 1,879.5 

 

Additional information: 

1. The expansion in the retail outlet is expected to increase sales by 15% in the year ending 30 November 
2012. 

2. Variable cost is 75% of cost of sales 

3. Administration costs will increase by 8% due to additional staff remitted 

4. The company will maintain the policy of paying out 60% of profit after tax as dividend and no 
overdraft will be obtained 

5. Corporation tax rate is 30% 

  Required: 
(i) For each of the financing options, prepare the forecast income statement for the year ending 30 

November 2012 clearly showing the earnings per share (EPS) for each option. (9 marks) 

(ii) Based on the EPS calculated in (a) (i) above, advice the management on the best option to finance its 

operations.           (1 mark) 



(iii) Calculate the break-even point (BEP) in shillings under each of the financing options  (6 marks) 

 
(b) Outline four categories of financial instruments which should be disclosed in the statement of 

financial position as per IFRS 7 (Financial Instruments Disclosure)   (4 marks) 

           (Total: 20 marks) 

QUESTION FOUR 
(a) Biscuit ltd commenced operations in January 2000 dealing in computers, printers, fax machines and 

photocopiers among others 

Assume that you are working for a financial institution and the management of biscuit have approached 
your institution for an overdraft facility of sh.400, 000,000. 

The following financial statements have been prepared for the two years ended 30 June 2010 and 30 June 

2011. 
Income statement for the year ended 30 June: 

 2011 2010 

 Sh.”000” Sh.”000” 

Revenue   4,306,533  2,027,310 
Cost of sales (3,289,702) (1,503,999) 

Gross profit   1,016,831      523,311 

Administrative expenses   (857,330)   (390,750) 
Finance expenses            (55)           (113) 

Profit before tax     159,446     132,448 

Income tax expense     (68,220)      (43,536) 
Profit for the period       91,226       88,912 

   

Statement of financial position as at 30 June: 

 2011 2010 
Non-current assets at cost: Sh.”000” Sh.”000” 

Plant, property and equipment 285,785 129,805 

 

Current assets: 

  

Inventory 327,490 191,039 

Trade and other receivables 901,143 323,678 

Cash         358         113 
 1,514,776 644,635 

Equity and liabilities:   

Ordinary share capital       1,200      1,200 
Retained profits 275,124 183,788 

 276,324 184,988 

Non-current liabilities   99,095   52,486 
Current liabilities 1,139,427 407,161 

Total equity and liabilities 1,514,776 644,635 

 

Additional information: 
1. The administrative expenses for the two years comprises  

 Year ended 30 June    2011  2010 

       Sh”000” Sh”000” 
 

 Wages      496,235  201,841 

 Directors emoluments   115,335  45,344 
 Depreciation     56,997   28,796 

 Interest payable     14,903     5,572 



 

2. Sh.141, 000,000 of the increase in net book value of property, plant and equipment represents leased 
motor vehicles. In total, leased motor vehicle represents 79%of the total net book value at 30 June 

2011. 

3. Trade receivables at 30 June were sh. 802,793,000 while they were sh.332, 528,000 at 30 June 2010. 

4. Non-current liabilities are all finance leases. Current liabilities include: 
 

Year ended 30 June    2011  2010 

      Sh”000” Sh”000” 
 

Bank overdraft    252,101  39,979 

Finance lease liabilities     87,123  40,342 
 

Required: 

A report to the management of Biscuit limited with recommendation regarding the overdraft request  

           (16 marks)  
 

(b) Mauzo Limited has a defined benefit plan and prepares financial statements to 31 December every 

year. 
The following information is relevant for the year ended 31 December 2010: 

The net pension liability at 31 December 2010 is stated before making any adjustments in respect of 

actuarial gains or losses arising in the year. 
The expected return on plan asset was sh.60million. The unwinding of the discount on the pension 

liability was sh.30million 

The current service cost was sh.45 million. The entity granted additional benefits to existing pensioners 

that vested immediately and have a present value of sh.10 million. These were not allowed for in the 
original actuarial assumptions. 

The entity paid pension contributions of sh.40 million. 

Ignore the deferred tax. 
Opening and closing pension liabilities were sh.35 million and 40 million respectively. 

 

Required: 

The actuarial gain or loses arising in the year ended 31 December 2010.    (4 marks) 

           (Total: 20 marks) 

QUESTION FIVE 

The following financial statements relate to holders ltd and its subsidiary company spark ltd and 
associated company axle ltd. 

 

Income statement for the year ended 31 October 2011: 
 Holders ltd Spark ltd Axle ltd 

 Sh.” million” Sh. ”million” Sh.” million” 
Revenue  1,700  1,800  930 

Cost of sales (1,156) (1,206) (560) 
Gross profit      544     594   370 

Dividend income          9        -      - 

      553     594    370 
Distribution cost     (205)    (190)   (100) 

Administrative expenses     (245)    (297)   (182) 

Profit before tax      103      107      88 
Income tax expense       (40)      (50)     (32) 

Profit for the period         63       57       56 



Dividends: Paid         (24)     (10)      (12) 

                  Proposed         (30)     (20)      (40) 
Retained profit for the year             9       27          4 

Retained profit brought forward         244      120       191 

Profit carried forward         253      147       195 

 

Statement of financial position as at 31 October 2011 

 Holders ltd Spark ltd Axle ltd 

Non-current assets at cost: Sh.” million” Sh.”million” Sh.” million” 
Plant, property and equipment  1,300 1,145 1,175 

Investment in spark ltd     500   

Investment in Axle ltd     200        -  
  2,000 1,145 1,175 

Current assets:    

Inventory    170     250     150 

Trade and other  receivables    190     150       80 
Cash and cash equivalent      13         2     210 

 2,373 1,547 1,615 

Equity and liabilities:    
Ordinary share capital(sh.10 par value) 1,000    700     600 

8% preference share capital    300      -         - 

Revaluation surplus    400     100         - 
Retained Earnings    253     147     195 

 1,953     947     795 

Non-current liabilities:    

Loan stock     -     200     300 
loan from holders ltd     -         -     150 

 Deferred tax      20     130     190 

      20     330     640 

Current liabilities:    

Bank loan     170         -         - 

Trade payables      200     250     140 

Dividends payables       30       20       40 
     400     270     180 

  2,373  1,547 1,615 

 
 

Additional information: 

1. On 1 November 2004, Holders ltd acquired 60% of the ordinary shares of spark ltd When the retained 
earnings of spark ltd were sh.30 million and on 1 November 2006, holders ltd acquired 25% of Axle 

Ltd.‟s share capital. The net assets of Axle ltd on ! November 2006 was valued at 680 million. 

Holders ltd is able to exercise significant influence over Axle ltd. 

2. Included in the receivables of holders ltd is sh.150 million due from spark ltd 
3. Holders ltd has not accounted for dividends due from sparks ltd and Axle ltd 

 

Required: 
(a) Consolidated income statement for the year ended 31 October 2011    (8 marks) 

(b) Consolidated statement of financial position as at 31 October 2011    (12 marks) 

              (Total: 20 marks) 
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